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question with Marker or pen ink on th& answer sheet provided.

1.4, The amount which is paid by the b
(A) profit Ot (B) bon

2 A bill of exchange drawn on a specified anker and not expressed to be ¢

3 The tax in addition to the price of the article is called:

(A) tax Jy {B) sales tax

4. The tax charged on all the taxable income is called:

T
(A) sales tax UK (B) direct tax

fo: i
5 A3 is:

k on the deposits is called:

: A
(C} premium A=/

cheque
income tax U"C(“fl

A

S gal g excise duty dgé?bgf

(D) income tax

U/‘.Cﬁ

SN

ective answer sheet provided. Four possible answers AB,C & D to each
the corresponding circle A,B,C or D given in front of each

et tila G 1A
/ (D) mark up ..;J_,GL
L/JJ}iﬁk?wl;L/%Jﬂ?uggdeJ‘c 2
etk s B
(D) bank draft
ke iSas 3
(D) excise duty Jgjfb;/-'
,{__ruﬁ«fq_,tt_gg@j{dﬁu@wrazu%, 4

‘-'{_.ml»f \5 5

(A) a rational number sw Pt (B) amrrational number s P
(C) natural number % u;,d (D) an intgger wép
6. Third term of an=#n+23 is: _4;.(-;16,/-:6 an=n+3 B
(A) 3 (8) 9 () O (D) &
1 I
T T ¥ 0= =
7. Fourthterm of ' (2,-1)" I8 et T anry T
i |
(A) ? 8) 49 ©) g (D) ©
8. ifUZ{l-z-.:“},«42{1},thenU—A is equal to: U= }.U={1 2 3})7 8
[ i -
@ (1.2} ® {13 © ¢
9. For V=2 in 2x — ¥ =6 we have ¥ is equal to: - 2x-y=6 9
(A) -4 (By 2 (c) -2
10. Z(\ Y X] = () is one of the properties of: X, —'-‘C) =0 10
(A) Geometric Mean IS Vat (B) Harmonic Mean [P
(C) Arithmetic Mean  k-sigL> (D) Mode sk
11. 20% of 600 is: 0%§E'600 .11
(A) 12 (8) 120 (c) 20 (D) 200
7 oo\
12 ,)_{] in terms of percentage is! s u’fvﬁJM 12
() 35% (B) 35 (C) 20 (D) 20%
13 On a crop produced on natural resources, Ushr is deducted al the rate of. _.;,.C,;JJP/;}//““,;J"L?T;,(&F&.@U@J \.13
(A} 2.5% (B} 5% (C) 10% (D) 20%
14. Zakat on an amount of Rs.1,00,000/= Is: e 395 5544.2,1,00,000/= .1
(A) 25000 (B) 2500 (C) 2000 (D) 15000
15, Profit is earned when: :)’J‘._Lb?y’d‘bb"" 15 \

(A) SP=CP whjei=zyied
(C) SP > CP whrjed>yfad

(B) SP<CP w=dsfed<siad
(D) SP=MP w=djud=eibnges
221-00AWRER Lo, P9l Py



General Mathematics (Essay Type) (Arté Group)

Marks: 60

Vi,

Vii.

viii.

Vi

vil,
viil,

ix. Find G.M between 3 and 27.

. Define Bank draft.

. Define Excise duty.

Section -1

Write short answers of any six parts from the follo
i. Express 2.64 as percentage.
. Define proportion.

i If 82% of the houses have television what percent

do not have?

. Define inheritance.

amount of his wife if he had no any child.

Find SP where M P=2760/=, discount =5%

Define sale price.

Find cost price (CP) when sale price (SP) is s 672/= and profit is 5%. - 5°/uc5“1¢”572f=.=.é,);i,6'¢3ffm Jad

1SR=Rs.22.3449 B} Lt Ud 1L 15000 |
26212 Sy fe 2Pl g e et it s
-uf’g-@/U:f"“ivé A
_.Lij_é‘f?JLl;fil;L_fl

& 2,34800/==4 $2d LT i

ix. Convert 5000 Saudi Riyals into Pakistani Rupees where:

Write short answers of any six parts fro

iil. Price of a computer is Rs.34800/= inclusive

is the original price of the computer?

- Wirite in scientific notation.

Solve it:
Find the value of Y if;

Write the first three terms of;

Find A.M betwéen -3and 7.

Write short answers of any six parts from

Define "difference of two sets".

. Find AU Bif:
. HC={12} then find CxC.

Define Cartesian plane.

Time:2:10 Hours c’?.fZ:l{} =y

2x18#36
ing.

. A person left a property amounting Rs.30.00,000/=. Calculate the

the following.

of 16% sales tax. What

the following.

A ;5¢r.b,r;} ,

Represent the point C(-5,-1) on graph paper.

/s

2x6=12

e of the houses

2566324
(og(x—2)=1

fogx =0.1597

B={a,e.i, o,u}

Jilo

U f 2P Mg e M LS5
uf-‘fj; bt t.4/264 |
~5-‘_-f-‘:(-é'/’7i.>(-.-f't:
Ftu L b Juraydl tud 82% A i
Fney
s G

J|;TL5;,{,:¢;L?J;)_L‘§_yao,oo,ooohgfé_g _

g I - [ 3
s sl Geduines 3L
5% 94¢1,2760/= = ,;c-,»,??é#:,s, pud
7. i
-y flanped

ﬁ}ﬂa%wvﬁ?f-
‘.'[Lg&f' P|L,(/.K.CC_JU=‘

:,r';! i /’(VL" ) d/ X

n+ Foe -
a” = - WS et T I::
2n+5 ) IS
LA n 3T
Pl Aend 27413

Gt

ﬁa_,i{(ah'(:xc}ﬁc ={(12}/1
- s
b s 5 ) 5
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vi. Convert 97°F to °C using formula.

vii. Define median

i

vii. Find the Arithmetic mean of the data. 195,193,186,184,191/A472,168,187,189,186 ,.?_:,L;':l”bn!;__}l.)%lr Vil
i

ix. Find range of the data. &10,141312 _Qi—(WufJ,lr X

Section -I1

Note: Attempt any three questions from the following:

(22

8x3=24 _ g febinletvife Sle Ltits s
5. (a) Juice manufacturer produces 3000 bottles in a day efmploying JKJ;:SSODOLxF_)?K;U,,gaf,{‘|5 () 5
15 workers working 8 hours a day. Find the numbey of bottles uf;ljugﬁfxﬂs_bgi_ﬁt_:uf orfl
manufactured when employs 18 workers working § hours a day. oL QLQL,CL;(_?/JJ.;UU{:_V:

(b) Akram left a property of worth Rs 480,000/=, Hefleft behind L idivbd=die 1,480,000= /i (o)

a widow, three sons and four daughters. Calcyfate the ,;l_,rl';f,gg’_bj}:{uyé;g:sié@aug_géz;l
share of each one. _a}?#’;{i.d;bcﬁ_g

6. (a) Distribute Rs.33,000/= as a profit in a bus/ness regarding r.';’;iJl?fwff(:'fe_:_..nSS,OOOJ%C:wK.{! () 6
three persons if their shares are in the rafio 3:5:3. -nB:S:S;HJu;;”Z.uI,?&:,{

(b) A man barrows Rs 100,000/= for 3 yearf at the rate of 16% 4 x5 16%< £ 134 5,1,00,000/=%1 1 (o)

compound mark up p.a. What is the markup he has to pay? '?fﬁt)/f;!.?.ll_ﬂt@fr_,l_c__;uﬁ;Lwﬂa:_(,}'; UVL,(_;«S

7. (a) If the price of an airconditioner inciusi}:e of sales tax is .{T_udo,000;':9’?}»’.;4.:,»_5{7‘-1‘1/,:".?)7(..5“) 7
Rs.40,000/=, then workout the amOL}nt of sales tax on it at the rate  _ 'fﬁ;}*‘ﬁd’ugjk‘;ﬁ,;;Ul/16%,;u"l?x
of 16%. Also calculate the price of I!éairconditioner without sales tax. - a:‘ﬁ?#f&}l.ﬁ;»ﬁ;&fﬂiﬁw
_flj 2.38x3.901 e £
{b) Solve with the help of logarithm tabie. 483 _;:E'-J;»deﬂﬁ ()
8. (a) Findthe 7" term of a G.P 2,8,32... .. . . ‘ﬂﬁb;;7uiz,8.32,._______.LM}/J’ () 8
(b) U ={1.2.3.4.5,6,7.8,9} A={2.3.6.9} and A={23,6.9}.U={123456789 /1 (&)
B={1,3,6,7.8}  then verify that: (AUB) =4 N8 ;fa_{_-,.,e;,,.-g:{l,3,5,?,g} il
9. (a) Draw the graph: _ v=3v+4 ,%"-.{_-.Jif (9
{b) Find Mean, Median and Mo_ée for the following set of data. ,%?:1"‘,;L.-;sl_,,-b,«bnl'{_’fﬁu;gjjb» (\..-a)
4,6,7,4,8,9,7,10

] 222-09-A- ewp' ?’ /‘—'8'
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General Mathematics (objective Type) (Arts Group) (u",/)d' LJJ 7.
Marks: 15 Time: 20 Minutes & 20:=5 15:/-.}

;
v

,,U—-'{Lég'dng,- o -y,;va;,l,?u%L,f.‘;’:é.JDul,C,B,A.‘;L'R.‘ﬁrkﬁdlrﬁ#’%QK{}’.@@/"G&JQU:?L&U':’(Q:&;
H.L,f:/c_‘)"k«fg_f'y&fr_ e u‘-’-'L;‘:}bﬁD L CBAszatL

rs to the questions on objective answer sheet provided. Four possible answers A B,C & D to each

question are given Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

guestion with Marker of pen ink on the answer sheet provided.

1.1. The person or entith\whose insurance is being done is called the: - ,;»»f;_rg_ u_vJu":ﬁld,u’-ggJ"i: A1

(B) insurer Y (C) drawer L} (D} lessee (x

NOTE: Write ans

(A) insured L&
2 A machine installed by thé bank to dispense cash to customer is called: _._;jéf;'fg.f)'fl:lﬂ.ﬁ’ﬁjﬁzdf‘fdﬁu:_.@ 2
} scaner & (C) ATM ,fl-J-a..r (D) card reader .is3E
ome, property and profits in the UfJﬁo!a/:‘;J-C;Ig?:ufgﬁ,;aw;mgtp&ﬁﬂw{: 3
form of income tax, property tax gtc is called: e e
A @ g (B) ditecttax feolyis (C) propery tax Hd. (0 income tax A
hicle tax is calied: , 1 i:’f/guﬁuﬁ!u{){f:)ﬁfg} 4

J"gh.ybgl,r (C) property tax Jgd.;f{ (D) income tax ‘/?';,

(A) computer /'y_vf

3 The tax which is charged on i

4 The tax in the form of duties, motor

-

{A) indirect tax -Jg L2190 (B) directt

5 In4° 4is called -p‘?&,)/4(_):45 5
(A) radical e (B} exponent (C) integer mép (D) base b

6. ag0f 3,711, ... is: el & 0w 16
(A} 3 (B) 19 (C) 23 (D) 20

7 What s AM between /3 and 3+/3? e b 2 33 43 7
®) 243 ® 53 © 943 0 43

g AU(BUC)=(4UB)UC is called: 3w AU(BUC)=(4UB)UC s
(A} commutative property Dl (B\ associative property  (ikeb

(C) De-morgen’s law ;-)JEKJ‘:;/'U’; (D) inersection of sets ZEK s

9. What are the co-ordinates of origin? St lxl =hsli 9
0y (1.0)

(A) (1.1) (B) (0.1) (C) (0,0)
_;g&llv‘(_-—»"jd.wd&’;uf)lﬂ.,}'fo’( 10

10 The middle value cf data arranged in numerical order is called:

(A) Mode b (B) Median k- (C) Mean L~ (D) Geometric Mean  bosiy 2

11, 20% of 600 is S S—— 20%K'600 .11
(A) 12 (B) 120 (€} 20 (D) 200

12. Lowest form of 75.95 is: —e S 7595 .12
(A) 1519 (B8) 15:17 (C) 19:15 ) 17:15

13. On a crop produced on natural resources ushr is deducted at the rate of. < L}JJ:J’J J’J& Ve DI300 43
(A) 2.5% (B) 5% €) 10% ) 2

14 \f there is only a single grand daughter or an agnatic grand Lﬁ:’.r‘JJfﬂJ.gb_fm-'J’.:.._j}in,k 14

daughter, her share is.
| ! 1 1
(A 7 B ¢ © 3 © 3
15. Loss is there, when:

(A) SP= CP  wsjed =sied (B} SP>CP e ed >uind

(D) SP< CP  whjed<yiad
223-09-A- W R WW Rw p- f—2—1 8

) 2%

(C) SP = MP =S pmd = ln gt
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General Mathematics (Essay Type) (Arts Group) (;L-:-Ja)d’ LJJ /.
Marks: 60 Time:2:10 Hours &4 2:10 &5 60:/,;'
Section -1 2x18=36 Jil >
2. Write short answers ofany six parts from the following. 2x6=12 -(,J_’):rfai,lﬁ/‘?ﬁpml{a.é);,uﬂdsbu 2
i. Define ratio and give an exa oLl Sy e

ii. If a:b=2:3, then find the ratio of 6a _L)_‘/T':*-"Ga12b?ﬁa:b=2:3)1 i

iii. Express % as a percentage. \\ _L,f,fd_'é’udﬂf}fé i
iv. Calculate Ushr on a rice crop produced by H‘aigral resources .»;_:;6,00,0001=thJ"JJ,L:,}Q;;ébj(_-!;;' v
amounting to Rs.6,00,000/= i _,J?-,Lv #

v. What is meant by Ushr? \"'\ ?.T_.JJ/L/.:_/“ v
vi. Find the CP, when SP=Rs 851 Loss= 8%. o - BUUIAL 5,85V 1255 ) Ly S s s d i
vii. Find the selling price, when MP=Rs.728, Discount=6%. \ e 6% AL 2, T28I= 2o st L i Sy e pad il
viii. What is meant by cost price? \\_ e e g 7ad Vi

ix. What is meant by cheque? el e G ix
=12 gLl Pl e Ldits 3
ﬂzﬁz@:ugudﬂ LAJLA)#75000 i

ne122.401=JL 1oL

3. Write short answers of any six parts from the following.
i. Convert 5000 Saudi Riyals into Pakistani rupees if
1 Saudi Riyal is equal to Rs.22.40/=

il. Define property tax. -af-f_gj"JJ?d,;u, i
iii. A sales tax of 16% is imposed on television. If the marked price of the ~ Gush: f;,u‘fﬁq_tgygu’frujﬁ-’ 16% 07k i

television is Rs.18000/=. Calculate the total amount one has to pay if ri;u;’, SN s ;'u:‘_u‘f ;'rf?LJABUUOf-_-C:M_;
?Jﬂt/(lﬂ
& 0424 v

he wants to purchase it.

iv. Write 0.424 in scientific notation.

fogx =0.1597

v. Find the value of x |, if :);l‘_,:/p'*"‘;rfgf X v
log?243
vi. Solve: Tt0gd gL i

vii. Find missing element using formula @, =a+(n—1}d of A.P (}Vt?_.ﬁé'..fdb*;" a, =a+(A-1)d K37 vii
a=5, ay=61, n=15

viii. Find G.M between 9 and 5. ‘ T Aglend 549 i
ix. Define arithmetic mean, o SLag? ix

4- Write short answers of any six parts from the following. 2x6=12 _q)}f..-.l,mﬁ"'érlzlga_dfc, Jitn -4

I. What is universal set?

ii. Find A() B If A={1,2,3,4} and B=(7,8.9.10} ,a:;if:l-v A B 5B={7.8.9,10}»A=(1,2.3.4./1 ii
iii. Find AU B, If A={1,4,7,8} and B={4,6,8,9}. -4}:‘” AUB ?ﬁB:{QG.&Q}»lAz{‘l‘4,7,8}&,'{&

Rosp=~ J—2_-18 \

R



iv. Define Abscissa.

v. Convert 1130F into OC.

-

vi. Represent points A(7,2) , B(-6,3) on graph paper.

vii. Find the mode for the data 3et. 62434545
viii. Find the Geometric Mean of 2,4 and 8.
ix. Define Range.

Section -II

Note: Attempt any three questions fram the foliowing: 8x3=24

5. (a) The price of 15 suits is Rs.6750/=. How many such suits
can be purchased by an amount of Rs.4080/=.
(b) A person died by leaving property of Rs.3,30:000/=. If he had left
three daughters, then what would be the share
6. (a) The share of three partners in a business is in the ratio of
2:3:5. If they suffered a loss of Rs.10,00,000/= in the bysiness,
what was the share of each individual in the loss incurred.
(b) Find compound profit on Rs.600/= for 4 years at 6%
per annum.
7. (@) The price of a tricycle is Rs.4000/=. If 16% sales

tax is charged, then calculate the amount of

sales tax on 30 tricycies

25.36x2.4569

P 1{RY

_éd:fuiccf 113%F v
6 AT 2)  B(6,3) i
,e_ﬁ‘:k'uw.:{é;rr Vil
,5_..?-}’*;./,@/5(8”0:4 Vil
S

-

r::,.-o

SN2l e S LS st 1

g 167501222 Susin15L e 1 () 5
e s fe s2 & e Uy24050/=

&J’ﬁ}‘f)léb JL?-))3,30,000-’=£ dﬂf..g ("?')

each daughter? -/ b Ll iunbet ASOL
/”F-di..22315~:w:ju:.r$ Iy Kug Juyb;x(l/:'ofﬂ

S S, 0.00,000/= 2 A6

() 6

By 45 P
a2 6%-LJvase 160012 (o)
B

LNe o sa000i=2 F SF A () 7

(b) Solve with the help of logarithm table.

8. (a) Insert three Geometric Means between 486 and 6.

(b) If U={4,6,8,9,10}, A={4,6} and B={6,8,9},
then verifiy that:
9. (a) Piot the graph if:
(b) Find the standard deviation for a set of ungrouped values, when
n=13, Zx=48 and x = 10.
224-09-A-

847.5

(ANB) =4"UB"
Y=3x+5

()

B=(6,8,9}»A={4,6}:

itS (L) 9

29l Zx =48 n=15 UM u/f/f ()

IG5 S 5 N0
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